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1.Your customer needs a blade server.

Which two ThinkSystem products will meet their need? (Choose two)
A. ST550

B. SR550

C. SR850

D. SN850

E. SN550

Answer: DE

2.The XClarity Controller provides remote server management through industry-standard protocols and
interfaces.

Which two options are supported with XClarity Controller? (Choose two)

A. Simple Mail Transfer Protocol (SMTP)

B. XClarity Mobile App via Bluetooth protocol

C. Common Information Model Object Manager (CIMOM)

D. Simple Network Management Protocol (SNMP) Version 3

E. Intelligent Platform Management Interface (IPMI) Version 2.0

Answer: AE

3.Your customer is going to deploy a Flex System with 14 compute nodes in a very dusty environment
where temperatures up to 45 °C (113 °F) are common.

Which solution is required for this deployment?

A. Flex System Carrier-Grade Chassis with two additional fans and the advanced cooling kit (ACK)

B. Flex System Enterprise Chassis

C. Flex System Enterprise Chassis with two additional fans and the advanced cooling kit (ACK)

D. Flex System Carrier-Grade Chassis

Answer: D

4.Your customer requires a cost-effective 4-socket, 2U rack system for a transactional database, OLTP,
and ERP/CRM workloads.

Which product will meet this requirement?

A. SR950

B. SD530

C. SR850

D. SR650

Answer: A

5.Your customer has implemented a new Disaster Recovery solution utilizing 14 SR630 nodes with
redundant cabling and a single DS6200 SAN with an iSCSI protocol. They want to use cost-effective
CATG6A cables for connection from the servers, while using DAC cables to connect to the SAN.
Which switches should be recommended?

A. NE10032

B. NE1032T

C. NE1032

2/3



The safer , easier way to help you pass any IT exams.

D. NE2572
Answer: C

3/3



